E‘j THOMPSON RIVERS UNIVERSITY

MATH 1230

Calculus 2 for Engineering

Instructor: Richard Taylor

MIDTERM EXAM #1
SOLUTIONS

13 Feb. 2019 10:00-11:15

Instructions:

® NS e W

Read the whole exam before beginning.
Make sure you have all 5 pages.
Organization and neatness count.
Justify your answers.

Clearly show your work.

You may use the backs of pages for calculations.

You may use an approved formula sheet.

You may use an approved calculator.

PROBLEM | GRADE | OUT OF
1 14
2 4
3 5
4 10
5 6
TOTAL: 39
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MATH 1230 — Midterm Exam #1 (SOLUTIONS) 13 Feb. 2019

Problem 1: Evaluate the following:

(a) /<\/§—1+7r2+e—3“3> da

%

11
/<$1/2—+7T2+6_3I> do = %x3/2—%1H\$|+W2IE—%€_3z+C’
5x

/ (b) /x1/3(2 —2)%dx
3

/$1/3(4—4x+x2)d:c:/4x1/3—4x4/3+x7/3dx

=|32%3 — 1—72x7/3 + %1‘10/3 +C

w/2
(c) / x sinzx dx
/4 !

Integrate by parts:

U=z dv = sinz dz w2 /2 /2
du=dx v=—coszx /0 xSlnxdm-—xcosxO +/0 cosmd:p_
0 sinz‘gmzl
(d) 4 dr
/4 1 zev®
Subsitution:

u:\/ile/z, du:%x_l/2

4 2 2
d 2d
/ _r ey —/ 2¢ “du = [—26“} =|2(e7 ! —e7?)
1 \/56\/5 1 ev 1 1
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MATH 1230 — Midterm Exam #1 (SOLUTIONS) 13 Feb. 2019

x
/ 4| Problem 2: Let f(z) = / V4 — t? dt. Evaluate the following:
0

y=V4—12 = t*+1? =22 is a circle of radius 2 "

1
— the area under the graph is 177(22) = 2 y=vi—12

~Y

By the fundamental theorem of calculus:

fl(z)=Vi—a2? = [f'(2)=[0]

Problem 3: A reservoir supplies water to an industrial park. At 10:00AM on a certain day the
/ 5| reservoir contains 8000 gallons of water. The rate at which the reservoir supplies water is given by the

formula r(t) = 10 + v/t [gal/min] where ¢ is measured in minutes since 10:00AM. How much water is
left in the reservoir at 12 noon?

Let V(¢) be the volume of water in the reservoir. Then V'(t) = —r(¢) and so

120

120 120
V(120) — V(0) = / V'(t)dt = —/ (10 + tY/2) dt = — [mt + §t3/2] ~ —2076 gallons
0 0 0

— V(120) = V(0) — 2076 = 8000 — 2076 ~ 5924 gallons
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MATH 1230 — Midterm Exam #1 (SOLUTIONS) 13 Feb. 2019

Problem 4: Consider the shaded region shown in the graph below.

(a) Calculate the area of the shaded region. y=1+z

The upper intersection point is at y=2/s

2 1
x

— 2’ +2-2=0=(z+2)(z—1)
—r=1 = y=2.

1+z=

5l |

Re-arrange the equations as follows:
y=14+2 = z=y—1 and y=

Then by “horizontal slices”:

A:/dA:/12<§—y+1)> dy
2

=2Inly| — 1y* +y

1
_ 1 _ 1
= (2In2-2+42)— (0- 3 +1)=[2In2 -1 ~0.886

(b) A solid object is formed by revolving the shaded region about the y-axis. Calculate the volume of
this object.
/5

. . . . 2, .
Horizontal slices generate “washers” with outer radius R = —, inner radius » = 1 — gy, and
Y

volume

2
=W[—4y—1—y+y —34

=r([-2-24+4-8]-[-4-1+1-3]) =| =
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Problem 5: Use the definition of the definite integral (as a limit of Riemann sums) to evaluate

2
/ (22 — 32%) dz. The following formulas might be useful:
0

23%_ n+1 E:Z n+1@n+n

2 24
Let f(z) = 2z — 32%. With Az = = and z; = iAx = —Z, we have
n n
2 n
/0 f(z)dx = nh—{go; f(zi)Ax

- > [2a (2)')2
|

. 2”[@ 1242
= lim — — = —

n—oo N 1 n n

o204 12,
:n&“&on[n Z‘nQZZ]

=1 =1

. 2[4nn+1) 12n(n+1)2n+1)
=lm - |—F - —

n—oomn | m 2 n? 6

1

:hm[qn+n_4m+wfn+)]

n—o00 n n

Check:

2 2
/(2:1:—33:2)dx::c2—3:3 =4-8=-4,/
0 0
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